HonorsAnalysis Name

Copy original problem. Per

Convince me that you understand the concept!

No Calculators. Chapter 3 Exam
| Given the graph on the right:

a Assumethegivengraphis f(x).
Properly fill inthe f(x), f'(x), f"(x) numberlineson
the back of this page..
b) Assumethegivengraphis f'(x). On theaxison the back

Date

(20 ptstot)

of this paper sketch f(x). Specifically state coordinates
of al extremaand PI. (Typically you might have aresponse

suchas: “(a, f(a)) f'test”) Justify, of course,
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a) Usethesingle y—axis and three x—axeson the back of thispagetograph f, f', andf".
b) Specifically state the coordinates of all extremaand points of inflection on f. Justify, of course.
(Asin b, above. Be sureto properly state coordinates.)

c)  Specificaly identify extremaon f'(x). Justify. (Notice this asks about extremain f'(x))
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Given f(x)= ~op for -3<x<3, (25 ptstot)
@  Using the definition of the derivative which yields afunction, find f'(x).
b) Using your answer to part a, find f(g)
%x+2| |f— <x<-
Given f(x)=R2-x% if —1 <x<1 (25 ptstot)
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a) Prove f iscontinuousat x=-1

b) Prove f iscontinuousat x= 1

c) Prove f'(— 1) does or does not exist.
b) Prove f'( 1) does or does not exist.
e) Prove f'(— 2) does or does not exist.

Extra Credit ------------------=m-mm oo - 5 PtS -

Draw the graph of f(x) from section |V above.



| a

Below isthe same graphic which ison
the other side of this paper. Itisrepro-
duced here for your convenience. You
areto fill in the graphic with pluses and
minuses, etc. and then use the number
lines to sketch the graph of the appro-
priate function on the proper axis.

Put the rest of your answers on the

newsprint as usual.
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